6B Ka0.
PasroBop o BaxxHoM
= 1 ypox reorpadus 3
=
2 2 ypoK MaremMaTukKa 19/4
% 3 ypok 00I1eCTBO3HAHNE 12
= 4 ypok PYCCKHH SI3BIK 14
= 5 ypok AHTTIUHCKUHN S3BIK 16/24
6 ypok JuTepaTypa 14
1 ypok MaTeMaTHKa 19/5
% 2 ypoK PYCCKHH SI3BIK 14
= 3 ypok JIuTeparypa 14
e 4 ypok PYCCKHH SI3BIK 14
o 5 ypok KapTa — S3bIK reorpaduu 3
6 ypok TEXHOJIOTHS 4
1 ypox ¢duznyeckas KyJbTypa c3
2 ypokK Ouonorus 1
)
5 3 ypok MaTeMaTHKa 19/4
8“ 4 ypoxk PYCCKHUH S3BIK 14
5 ypok AHTTIUHCKUH S3BIK 16/24
6 ypok PYCCKHUH S3BIK 14
1 ypox HCTOpUS 21
2 ypok MareMaTuka 19/5
ot
? 3 ypok MIPAaKTUKYM 10 MaTEMaTUKE )
:; 4 ypok AHTITMACKHNA S3BIK 16/24
5 ypok ¢du3nyeckas KyabTypa c3
6 ypok M300pa3UTENIbHOE UCKYCCTBO 24
1 ypok PYCCKHI SI3bIK 14
s 2 ypok JuTeparypa 14
= 3 ypok HCTOpUS 21
= 4 ypok My3bIKa 20
= S ypok TEXHOJIOTHS 4
6 ypoK MaTeMaTHKa 19/5




